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(1) et
A . Nig ] 5 #HIL A i #HIL A =
(T (FF) (%)

g e kA H e 3,601, 510 1, 541, 551 42. 8

il e & O F %Ok 482,011 229, 476 47. 6

I /A S e B 6, 593 0 0.0
I X t G 7,059 1, 947 27.6

2 PE 12 A 42,729 38, 599 90. 3
LS A G 73,438 0 0.0
s el G 65, 306 80, 803 123. 7

G 1 A 93, 900 55, 623 59. 2

#H = {E 412, 800 0 0.0

i 4, 785, 346 1,947, 999 40. 7

A . Nig ] 5 B X ax i #H 17 =

(T (TF) (%)

i3 = 5 24, 632 12, 785 51.9

e ¥ =4 203, 219 94, 345 46. 4

= B 4+ 5 73,630 35, 030 47. 6
fi 4 2 2,094, 156 496, 160 23. 7

{H B g5 2,063,401 881, 066 42.7

i # =) 5 157,610 86,075 54.6
N {5 65 144, 621 67,414 46. 6

R (i H 24,077 0 0.0

A 4,785, 346 1,672,875 35.0




(2) AP =EMUbE o & —Fhll=s!

A . T A i | I A # #H| I A R

(M) (M) (%)

+ ¥ I A 1, 580 1, 548 98.0

N it OB kO F OB 9, 205 o, 342 58.0
- 3 PE I A 42 8 19.0
A | N A 124, 725 71,600 57.4
s el 6o 3, 000 4,461 148. 7

G 1 A 254 150 59.1

i 138, 806 83, 109 59.9

A H?’ " i # ax # #H 17 =

" (FH) (FH) (%)
- ilipg =9 30 fbt o 2 — % 137, 806 65, 194 47.3
an I i =4 1, 000 0 0.0
&t 138, 806 65, 194 47.0
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+ Hi 357, 038. 87 nd
5L ) 46, 185. 64 i
i B H % b & 398, 645
S H & L WH O OE x4 238, 256 FH
be & W E om0 B OB W K & 112, 003F
H ] it B % fisi 5 & 68, 363 T
i 817, 267+ H
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S <t
- ﬁ% A K E A B 1E 5| 1 Fil Lt
() (M) (%)
i G5 i 15 2,402, 449 75.0
i 53] & 36 791, 027 24. 7
g & B B 1 9, 886 0.3
G 52 3,203, 362 100. 0
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(TH) (%) (TF) (%)

S i W o S O = W N 4,763,263  61.7|i#% = 7 22, 595 0.3
fiE OB & O F OB 478, 942 6. 2[#a % 7 199, 337 2.6
o i & 737,023 9. 5[ A # 69, 220 0.9
W b3 sl & 13, 730 0. 2|1 25 2 4,961, 188 65. 4
2] PE I A 63, 896 0. 8|1H il # 2, 038, 165 26.9
R A & 189, 407 2. 5| %k ) % 155, 068 2.1
i i & 137, 927 1. 8|4 & # 138, 541 1.8
E I A 23, 729 0.3
HH =y & 1,309,000 17.0

i 7,716,917 100.0 7 7,584,114/  100.0
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i A { B HH A B M

(TH) (%)

A 7 # 2,162,766|  28.5
) f # 1,005,722|  13.3
MR B & 163, 157 2.1
i iy 2 £ 309, 384 4.1
om o R OF X H 3,656,910,  48.2
N & # 138, 541 1.8
i ST & 27, 986 0.4
i sl & 119, 648 1.6

i 7,584,114 100.0




(2) AhFg=al bt v & — Kl et
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(T-) (%) (T-f) (%)
&+ ES I A 1, 547 0. O|fili g Ak b o & — 157,498 100.0
il A OB & O F & B 10, 219 6.1
i) PE I A 66 0.1
i A 4 124,648  74.9
e e & 4, 331 2.6
E I A 149 0.1
X o & 25,500  15.3
= 166, 460, 100. 0 B 157,498 100.0
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£ gk & HERE L L
(1) (%)
A 1 % 43,352  27.5
7 Ge 2 55,990/  35.6
MR M B & 13, 932 8.8
i lily 2 £ 44,217, 28.1
oom R Ok HE 0 0.0
& hYA 4 7 0.0
i t & 0 0.0
Bl 157,498  100.0




